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Introduction








How to use this book


This book will help you plan your revision and work through it in a methodological way. It follows the IB Economics syllabus topic by topic, with revision and exam practice questions to help you check your understanding.




Features to help you succeed
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TOP TIP!


These tips give advice that will help you boost your final grade.
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EXAM PRACTICE QUESTION


Exam practice is given for the type of questions you might get. For the longer essay questions, sample sentences and paragraphs are given to show what examiners are looking for in your essay answers. For easy reference, the exam paper is indicated for each question. Use these questions to consolidate your revision and to practise your exam skills, with suggested answers online.
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You can keep track of your revision by ticking off each topic heading in the book. There is also a checklist at the end of the book. Use this checklist to record progress as you revise. Tick each box when you have:




	
•  revised and understood a topic


	
•  used the Exam practice questions and gone online to check your answers.





Use this book as the cornerstone of your revision. Don’t hesitate to write in it and personalise your notes. Use a highlighter to identify areas that need further work. You may find it helpful to add your own notes as you work through each topic. Good luck!










Getting to know the exam








	Exam paper

	Duration

	Format

	Topics

	Total marks










	Paper 1

	1 hr 15 mins

	Essay

	All

	25






	Paper 2

	1 hr 45 mins

	Data response

	All

	40






	Paper 3 (HL only)

	1 hr 15 mins

	Policy paper

	All

	60









At the end of your Economics course, SL students will sit two papers – Paper 1 and Paper 2. Paper 1 is worth 30% of the final marks and Paper 2 40% of the final marks. The other assessed part of the course (30%) is made up of the Internal Assessment (or IA), which is marked by your teacher and externally moderated.


HL students will sit an additional paper – Paper 3, worth 30%. For HL students, Paper 1 is worth 20% of the final marks and Paper 2 also 30% of the final marks. The other assessed part of the course (20%) is the Internal Assessment which is marked by your teacher and externally moderated.








Countdown to the exams




1 week to go




	
•  Aim to fit in at least one more timed practice of entire past papers, comparing your work closely with the mark scheme.


	
•  Examine the checklist carefully to make sure you haven’t missed any of the topics.


	
•  Tackle any final problems by getting help from your teacher or talking them over with a friend.










4–8 weeks to go




	
•  Start by looking at the syllabus and make sure you know exactly what you need to revise.


	
•  Look carefully at the checklist in this book and use it to help organise your class notes and to make sure you have covered everything.


	
•  Work out a realistic revision plan that breaks down the material you need to revise into manageable pieces. Each session should be around 25–40 minutes with breaks in between. The plan should include time for some relaxation.


	
•  Read through the relevant sections of this book and refer to the expert tips, common mistakes, keyword definitions, case studies and worked examples.


	
•  Tick off the topics that you feel confident about, and highlight the ones that need further work.


	
•  Look at past exam papers. They are one of the best ways to check knowledge and practise exam skills. They will also help you identify areas that need further work.


	
•  Try different revision methods, for example summary notes, mind maps and flash cards.


	
•  Test your understanding of each topic by working through the Exam practice questions.


	
•  Make notes of any problem areas as you revise, and ask a teacher to go over them in class.










The day before the examination




	
•  Look through this book one final time. Look carefully through the information about each exam paper to remind yourself what to expect, including timings and the number of questions to be answered in each different section of the papers.


	
•  Check the time and place of the exams.


	
•  Make sure you have all the equipment you need (e.g. extra pens, pencil and a ruler for diagrams, a watch, tissues and water). If you are an HL student, make sure you have a GDC calculator for Paper 3.


	
•  Allow some time to relax and have an early night so you are rested and ready for the exams. There is a huge opportunity cost if you are not refreshed!














My exams




Paper 1


Date: ……………………………..


Time: ……………………………..


Location: …………………………







Paper 2


Date: ……………………………..


Time: ……………………………..


Location: …………………………







Paper 3 (HL only)


Date: ……………………………..


Time: ……………………………..


Location: …………………………


















1 What is economics?








Economics as a social science (AO2)




	
•  Economics is the study of how resources are allocated to satisfy the unlimited needs and wants of individuals, governments and firms in an economy.


	
•  Economics is a social science as it examines the diverse social behaviours and interdependence of individuals and societies in the allocation of scarce resources to meet the endless needs and wants of consumers, employees, firms and governments in order to improve their economic well-being.


	
•  As a social science, economics examines the choices of consumers, producers and governments by using appropriate models and theories.


	
•  The subject examines economic concepts at three levels:



	
•  microeconomics – the study of the behaviour of households and firms (or consumers and producers) in individual markets


	
•  macroeconomics – the study of the economy as a whole and the role of the government


	
•  the global economy – the study of international governments and the growing interdependence between countries through fairer international trade and the international movement of labour and capital.








	
•  Microeconomics is concerned with the behaviour of individuals and firms in distinct markets and segments of the economy, rather than the operations of the economy as a whole. It assumes rational economic behaviour of decision makers, which leads to resources being efficiently allocated.


	
•  Macroeconomics examines broad economic issues and topics, and the operations of the economy as a whole. It looks at aggregate variables, such as national output, unemployment in the economy and a country’s development, and the distribution of income and wealth.


	
•  The study of IB Economics takes place through the lens of six real-world issues (see below).







IB Economics and real-world issues (RWI)


As a social science, economics enables IB students to examine models and theories using the following six real-world issues:




	
1  How do consumers and producers make choices in trying to meet their economic objectives?


	
2  When are markets unable to satisfy important economic objectives and does government intervention help?


	
3  Why does economic activity vary over time and why does this matter?


	
4  How do governments manage their economy and how effective are their policies?


	
5  Who are the winners and losers of the integration of the world’s economies?


	
6  Why is economic development uneven?





Source: IB Economics Guide, First assessment 2022, page 7











Introduction to the nine central concepts (WISE ChoICES)
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Figure 1.1 The WISE ChoICES concepts used in IB Economics










	
•  As part of the IB’s overarching pedagogy of concept-based learning (CBL), the economics syllabus incorporates the use of nine concepts: scarcity, choice, efficiency, equity, economic well-being, sustainability, change, interdependence and intervention.


	
•  The economics syllabus (first examinations 2022) emphasizes the teaching of economics being conceptually focused and grounded in real-world issues. The concepts are also explicitly examined in the Internal Assessments (for both SL and HL students).


	
•  The central problems of economics are scarcity and choice, which force individuals and societies to face opportunity costs and the challenges of sustainability.


	
•  For example, scarcity and sustainability are essential interlinking concepts. Economic growth has led to clean air becoming an increasingly scarce resource due to traffic congestion and pollution, thus making breathing increasingly difficult for many people.







The WISE ChoICES concepts




	
•  Well-being – economic well-being is about the level of economic prosperity and quality of life (standards of living) in the economy.


	
•  Interdependence – there is growing interaction and reliance on others in order to achieve economic goals because individuals and societies are not self-sufficient in a rapidly changing and integrated world.


	
•  Scarcity – resources are scarce (finite or limited in supply) relative to the infinite (unlimited) needs and wants of individuals and societies. Hence, rational choices are made when addressing the basic economic questions of what, how and for whom production should take place.


	
•  Efficiency – a quantifiable concept that refers to how well things are done, such as how well resources are allocated in order to generate a socially optimum level of output of goods and services in the economy.


	
•  Choice – economics is essentially the study of choice due to finite resources and infinite wants of individuals and societies. Hence, economic agents have to make choices, thus giving rise to opportunity costs.


	
•  Intervention – the roles and responsibilities of governments in terms of monitoring and regulating the behaviour of the workings of different markets in the private sector of the economy in order to achieve goals such as economic well-being, efficiency, equity and sustainability.


	
•  Change – economic change is inevitable, and the world is continually evolving, so individuals, firms and governments need to be aware of change and thus adapt their thinking and decision-making.


	
•  Equity – this concept is about the idea of perceived fairness, although the idea of fairness is subjective, that is, what is deemed to be fair by an individual, firm or government might not be so for others. Although it creates some challenges in terms of interpreting fairness, it also enables economists to explore significant global issues.


	
•  Sustainability – this is about intergenerational equity and the growing importance of the global economy in terms of meeting the needs and wants of the current generation without jeopardizing those of future generations. It is about the ways in which economic activity impacts the natural environment and the world’s scarce resources.













The problem of choice (AO2)




	
•  Scarcity, as a concept and a problem, is central to the study of economics. In all economies, resources are finite in supply, so choices and decisions have to be made by individuals, firms and governments about how best to allocate limited resources to satisfy the unlimited needs and wants of society.


	
•  As a result of scarcity, choices have to be made. This dilemma forms the basic economic problem, which exists in every economy: how best to allocate finite resources in order to satisfy people’s infinite needs and desires.


	
•  Needs are the necessities people must have in order to survive, such as food, water, shelter, clothing, warmth and sleep.


	
•  Wants are human desires, that is, things people would like to have or have more of. These are infinite (unlimited) as it is human nature to want more things.


	
•  However, the resources required to meet society’s unlimited wants and needs are finite (limited). Hence, this restricts people’s options, so forces them to make economic choices.







Factors of production




	
•  Factors of production are the four categories of resources that are required to produce any good or service. They comprise land, labour, capital and enterprise.


	
•  Land (sometimes referred to as natural capital) means the natural resources used in the production process. Examples include crude oil, coal, water, wood, metal ores and agricultural products.


	
•  Labour (or human capital) refers to the human resources required in the production process. This includes physical human effort and intellectual input from the workforce.


	
•  Capital (or physical capital) refers to non-natural (manufactured) products used in the production process, such as tools, equipment, machinery, factories and office buildings.


	
•  Enterprise (or entrepreneurship) refers to the skills, creativity and risk-taking ability that a businessperson requires to successfully combine and manage the other three factors of production. The entrepreneur manages the overall production process as well as having responsibility for the profits or losses of the firm.


	
•  The rewards for the four factors of production are collectively known as income (or factor incomes). These comprise rent (the reward for land), wages and salaries (the reward for labour services), interest (the reward for capital) and profit (the reward for enterprise).
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TOP TIP!


The four factors of production can be remembered by using the acronym CELL: Capital, Enterprise, Land and Labour.
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Scarcity
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Figure 1.2 Income: the returns on the four factors of production










	
•  The main purpose of economic activity is the production of goods and services to satisfy the needs and wants of individuals and societies.


	
•  Resources are scarce (finite or limited in supply) relative to the infinite (unlimited) needs and wants of individuals and societies for goods and services.


	
•  This creates the fundamental (basic) economic problem faced by all countries: scarcity, that is, the shortage of resources in the economy needed to satisfy the needs and wants of all individuals and societies at any moment in time.


	
•  Therefore, rational economic choices have to be made when addressing the basic economic questions of what, how and for whom production should take place.


	
•  Needs are the essential goods and services required for human survival, such as nutritional food, clean water, shelter (housing), protection (safety), clothing, and access to healthcare and education.


	
•  Wants are the goods and services that are not considered to be necessary for survival but are desires, that is, things people would like to have, such as superior or luxury goods and services.


	
•  Goods are tangible (physical) items that can be produced, bought and sold. Examples include clothing, toothpaste, laptops, smartphones and home furniture.


	
•  Services are intangible (non-physical) items provided by individuals and firms and paid for by customers. Examples include haircuts, education, concerts, public transportation and online streaming services.


	
•  World Bank figures show that over 3 billion people live on less than $2.50 per day, and more than 1.3 billion live in extreme poverty (less than $1.25 a day). These figures suggest that scarcity is a major issue and that the basic human needs of many people are not being met.


	
•  Hence, the study of economics helps us to understand the decisions that households, firms and governments make, given that there are never enough resources to address all the needs and desires of individuals and societies.










Opportunity cost




	
•  Opportunity cost refers to the costs of an economic decision measured in terms of the best alternative choice foregone, that is, it is the economic cost of choice. As economist Milton Friedman said, ‘there’s no such thing as a free lunch’ (1975).


	
•  Due to scarcity, there is always an opportunity cost when making an economic decision. For example, the opportunity cost of spending more money on national defence is using the funds for other government priorities such as public housing for low-income families.


	
•  There is always an opportunity cost involved when allocating scarce resources, which helps economists to view the true costs of decision-making.


	
•  Therefore, opportunity cost directly influences the decisions made by consumers, workers, producers and governments. Referring to the basic economic problem, there are competing uses for the economy’s scarce resources.


	
•  The production and consumption of economic goods incur an opportunity cost due to the relative scarcity of the resources needed.


	
•  By contrast, free goods are products with a natural abundance of supply and do not require any deliberate effort to obtain. The absence of demand means there is no opportunity cost of consumption. Examples of free goods include seawater, air, desert sand, rainwater and sunlight.










The basic economic questions


The three basic economic questions addressed by an economy are:




	
1  What to produce? This question is about deciding which goods and services should be provided in the economy at any moment in time. As resources are scarce, there is an opportunity cost in deciding what goods and/or services to produce.


	
2  How to produce it? This question is about the methods and processes used to produce the goods and services desired by individuals and societies, such as whether to use labour-intensive or capital-intensive production methods.


	
3  For whom to produce it? This question is about which economic agents receive the output of goods and services. Society needs to decide which products are produced only for those who can afford to pay and which products might be subsidized by the government to encourage production and consumption.







	
•  The private sector of the economy comprises individuals and firms which contribute to economic activity by producing goods and providing services to meet the needs and requirements of consumers, usually in return for profit.


	
•  By contrast, the public sector refers to governmental departments and organizations that produce or supply certain goods and services for the general public, for example, education and public healthcare services. Its main aim is to provide essential goods and services to improve the economic well-being of society as a whole.










Means of answering the economic questions




	
•  Intervention is a key theme and concept in economics. It examines the extent to which a government should get involved in addressing the fundamental economic questions of what, how and for whom production should take place.


	
•  Economies can address the basic economic problem of scarcity and opportunity costs by using either market forces and/or government intervention.


	
•  The degree of government intervention in economic activity is determined by the economic system used in the country (see Figure 1.3).


	
•  Debates exist in economics regarding the potential conflicts between economic growth and equity as well as between free markets and government intervention.







[image: ]



Figure 1.3 The three economic systems








The three economic systems are:




	
1  Free market economy – This economic system relies on the market forces of demand and supply to allocate scarce resources via the private sector of the economy. According to the Heritage Foundation, there is a high correlation between a country’s level of economic freedom and standards of living in the country, although income is not equally distributed within the economy.


	
2  Planned economy – In this economic system, the government (or public sector) allocates scarce resources.


	
3  Mixed economy – In this economic system, there is a combination of the planned and free market economic systems. The government intervenes in economic activity where appropriate in order to correct perceived market imperfections and market failures.













The production possibility curve (PPC) model (AO2, AO4)




[image: ]



Figure 1.4 The production possibility curve (PPC)










	
•  The production possibility curve is a diagrammatic representation of the maximum combination of two products that an economy can produce at any point in time, when all resources are used efficiently. Hence, it shows the productive capacity of the economy (see Figure 1.4).


	
•  Any point inside the PPC suggests that not all resources are being used efficiently to achieve the potential output of the economy. Any point beyond the PPC is not currently attainable with the economy’s resources and state of technology.


	
•  The PPC slopes downwards from left to right, showing that the economy must forgo a certain quantity of one product in order to gain more quantity of the other product.


	
•  In Figure 1.4, the economy operates at point X, so produces 0A units of producer goods and 0B units of consumer goods.







Assumptions of the model


There are four main assumptions behind the PPC model:




	
•  Fixed production possibilities – It is assumed the economy produces various combinations of only two products, such as producer goods or consumer goods.


	
•  Scarcity – There is a limited (fixed) amount of resources in the economy at any moment in time. As there is a trade-off between the two products in a PPC model, this shows scarcity in the economy.


	
•  Constant state of technology – Production techniques and technologies are assumed to be held constant at any point in time. This makes it possible to analyse the consequences of changes in output without the state of technology changing.


	
•  Efficiency – All resources are assumed to be fully utilized in an efficient way, that is, there is no unemployment of resources. The efficient use of resources means that the maximum output of products is obtained from the economy’s limited resources.










Increasing versus constant opportunity cost




	
•  The gradient of the PPC shows the opportunity cost between the two products shown in the model.


	
•  The PPC is typically drawn concave to the origin, due to the notion of increasing opportunity costs. As an economy has more of a particular product (such as consumer goods), it sacrifices more of the other product (such as capital goods), so the opportunity cost increases.


	
•  If the production possibility curve is shown as a linear line, it means that there is a constant opportunity cost in the output of the two products in question. While this is less realistic than a PPC that is concave to the origin, it simplifies the idea behind the model of the opportunity cost of production.










Features of the model


The IB Economics syllabus states the following distinct but interrelated features of the PPC model: opportunity cost, scarcity, choice, unemployment of resources, efficiency, actual growth and growth in production possibilities. These features are outlined in Figure 1.5.
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Figure 1.5 Features of the PPC model










	
•  Opportunity cost – The PPC shows the opportunity cost of one product for another. If the economy increases the output of services from S1 to S2, the amount of goods produced will have to fall from G1 to G2 as the economy moves from Point A to Point B.


	
•  Scarcity – As the economy has a limited amount of land, labour and capital, this limits how much the economy can produce at any point in time. Scarcity is shown by the maximum output of goods and services, as illustrated by the PPC.


	
•  Choice – The PPC illustrates the issue and problem of choice. Choosing to produce more services (Point A), for example, means fewer goods can be produced by the economy (Point A).


	
•  Unemployment of resources – For a country to be operating on its PPC, production must be efficient and all resources must be used, that is, there is no unemployment. Unemployment of resources is represented by all production possibilities within the PPC, such as Point C.


	
•  Efficiency – The PPC model shows it is not possible to reallocate resources in order to make one party better off without making others worse off. For example, devoting more resources to produce goods means fewer resources are available to produce services. Hence, all points on a PPC show efficiency.


	
•  Actual growth and growth in production possibilities – The PPC shifts outwards as a result of an increase in the productive capacity of the economy. This is the result of an increase in the quantity and/or quality of the economy’s productive resources. Actual growth is shown by moving towards the PPC, such as moving from Point C to Point A or Point B. Growth in production possibilities is shown by an outward shift of the PPC, from PPC1 to PPC2.













Modelling the economy (AO2, AO4)




The circular flow of income model




	
•  The circular flow of income model is used to explain how economic activity and national income are determined based on the interactions of various economic decision makers (see Figure 1.6).
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Figure 1.6 The circular flow of income model










	
•  In a closed economy of the circular flow on income model, households supply factors of production to domestic firms in order to produce goods and services. In return, they receive factor payments (in the form of rent, wages, interest and profit). With the factor incomes, households spend their money on goods and services produced by firms.


	
•  In an open economy, part of the circular flow of income comprising domestic and foreign economic decision makers, the model considers international trade (exports and imports).










Interdependence between economic decision makers


The main economic decision makers in an economy, as depicted in the circular flow of income model, are:




	
•  Households – This refers to individual consumers who provide labour services to firms, in return for factor payments.


	
•  Firms – This refers to businesses that use factors of production to generate or supply goods and services. Economic theory assumes that firms aim to maximize profit.


	
•  The government – It is assumed that the government exists to maximize social welfare for society as a whole. The government taxes households and firms to raise tax revenues to fund government spending.










Leakages and injections




	
•  The open economy in the circular flow of income model includes both leakages and injections. Leakages (or withdrawals) remove money from the economy, thereby preventing the economy from experiencing inflationary pressures. By contrast, injections add money to the circular flow in order to stimulate economic activity.


	
•  Withdrawals (W) comprise savings (S), taxation (T) and import expenditure (M), that is, W = S + T + M.


	
•  Injections (J) comprise investment expenditure (I), government spending (G) and export earnings (X), that is, J = I + G + X.


	
•  Therefore, national income equilibrium exists if S + T + M = I + G + X.


	
•  The circular flow of income will change based on the sum of all withdrawals and all injections at any moment in time. If W > J then economic activity declines, whereas economic activity increases if J > W.
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PAPER 2 EXAM PRACTICE QUESTION 1.1


Explain why economics is considered as a social science.


[4 marks]
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PAPER 2 EXAM PRACTICE QUESTION 1.2


Distinguish between microeconomics and macroeconomics.


[4 marks]
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PAPER 2 AND PAPER 3 EXAM PRACTICE QUESTION 1.3


Describe the meaning of equity in economics.


[2 marks]
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PAPER 3 EXAM PRACTICE QUESTION 1.4


A firm can produce either 10,000 units of Product X plus 5,000 units of Product Y or 8,000 units of Product X plus 6,000 units of Product Y. Describe the opportunity cost of producing an extra unit of Product Y.


[2 marks]
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PAPER 2 AND PAPER 3 EXAM PRACTICE QUESTION 1.5


Consider the table below, which shows the maximum combination of strawberries and potatoes in the economy:








	Strawberries (’000 kg)

	Potatoes (’000 kg)










	27,000

	81,000






	30,000

	72,000






	33,000

	63,000






	36,000

	54,000









Calculate the opportunity cost of one unit of strawberries in terms of units of potatoes.


[2 marks]
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PAPER 2 AND PAPER 3 EXAM PRACTICE QUESTION 1.6


A farmer has land on which carrots and corn are grown. The production possibilities are shown in the table below:








	Carrots (’000 kg)

	Corn (’000 kg)










	  2

	  4






	  6

	10






	10

	16






	14

	20









Calculate the farmer’s opportunity cost of producing 1 kilogram of carrots in terms of kilograms of corn.


[2 marks]
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PAPER 2 AND PAPER 3 EXAM PRACTICE QUESTION 1.7


Distinguish between growth in production possibilities and actual growth.


[2 marks]
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Chapter summary




	
•  Economics is an academic social science that examines how resource allocation can best meet the needs and wants of individuals and societies.


	
•  The basic economic problem refers to the issue of how best to allocate an economy’s scarce resources in order to satisfy the unlimited needs and wants of individuals, firms and governments.


	
•  Factors of production are the four categories of resources that are required to produce any good or service, namely land, labour, capital and enterprise.


	
•  Scarcity means resources are finite (limited in supply) relative to the unlimited needs and wants of individuals and societies.


	
•  Free goods are products with a natural abundance of supply and do not require any deliberate effort to obtain. Hence, there is no opportunity cost of consuming free goods.


	
•  An economic system refers to the way in which an economy is organized and run, including alternative views on how resources are best allocated.


	
•  The production possibility curve (PPC) is a diagrammatic representation of the maximum combination of two products that a country can produce, given the efficient use of all its resources, per time period.


	
•  The circular flow of income is an economic model used to explain how economic activity and national income are determined.
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2 How do economists approach the world?








Economic methodology (AO2)




	
•  Economic methodology refers to the study of the processes, practices and principles of economics as a social science. It includes the models, theories and assumptions underlying economic reasoning and thought.


	
•  It is concerned with three key aspects: how economics functions, how it could function and how it should function.


	
•  Economic methodology considers two main dimensions of how economists approach the world, as proposed by British philosopher and economist John Neville Keynes (1852–1949):



	
•  Positive economics – the study of what is and the ways in which the economy actually works.


	
•  Normative economics – the study of what should be and the ways in which the economy ought to work.
















The role of positive economics (AO2)




	
•  Positive economics is the study of economics that is objective or provable, that is, factual statements about the economy or statements of ‘what is’.


	
•  It relies on reasoning, logic and empirical evidence.


	
•  Positive economics can be verified or refuted by referring to facts, evidence and/or further investigation.







Examples of positive economic statements




	
•  Scarcity is the underpinning cause of the basic economic problem.


	
•  Workers are incentivized by factor incomes (payments).


	
•  Consumers will tend to demand more of a product if the price is reduced.


	
•  Higher unemployment in the economy will cause standards of living to fall.


	
•  A tax on tobacco products will reduce the demand for cigarettes.


	
•  Greater access to education and healthcare will help to increase life expectancy.
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TOP TIP!


It is incorrect to assume that positive economic statements are always correct. For example, ‘globalization creates more winners than losers’ or ‘the imposition of a minimum wage will cause unemployment’ are both positive statements but can be tested in order to validate or refute the statements.
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The use of logic




	
•  Logic refers to rationality and reasoning to explain how the economy works and policymaking, rather than relying on feelings, emotions or beliefs. It is integral to the study of positive economics.


	
•  It is logical to assume that people will make rational choices based on the information available to them in order to maximize their economic well-being.


	
•  Logic involves using facts and figures in a considered and objective way to help explain economic phenomena in relation to an economic hypothesis, model or theory.


	
•  American economist Milton Friedman (1912–2006) argued that economics should be free of subjectivism and value judgements for it to be respected as a social science. He believed that logic, objectivity and reasoning should inform normative economics. This is because, he argued, value judgements distort policy decisions as opinions are not based on facts about the economic consequences of different policies.










The use of hypotheses, models and theories




	
•  A hypothesis is an assumption, notion or educated guess made before research has been conducted (such as the claim that ‘men, on average, are paid more than women’). This enables economists to test the hypothesis in order to accept or refute the claim, and to gain a clearer understanding of the issue.


	
•  A model occurs when a hypothesis has been repeatedly tested and proven. Models are accepted by economists only once they have been thoroughly tested and can be used to explain the real world, using relevant empirical evidence and data.
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Figure 2.1 The relationship between hypotheses, models and theories










	
•  A theory is a broad generalization used to explain situations or scenarios already supported by economic evidence and data from economic models. For example, the theory of demand (see Chapter 3) takes a broad view that as the price of a product falls, the quantity demanded will rise. This theory has been repeatedly tested so is widely accepted and used to make predictions about economic behaviour.


	
•  Like any economic hypothesis, an economic model or theory can also be refuted after rigorous testing or when new evidence contradicts or invalidates the existing model or theory.


	
•  Hypotheses, models and theories are used in economics to explain relationships as well as cause and effect interactions.










The ceteris paribus assumption




	
•  Ceteris paribus is a Latin phrase meaning ‘all other factors remaining constant’ or ‘all else unchanged’. As economics is not an exact science, the ceteris paribus condition allows economists to examine what is most likely to occur if one variable changes while holding all other factors constant.


	
•  The ceteris paribus assumption enables economists to simplify and explain possible causes and effects, even if these hypotheses have to be made.


	
•  The assumption is vital for the formulation of economic hypotheses, theories and models.










Empirical evidence




	
•  Empirical evidence refers to data and information acquired by investigations, observations or experimentation of certain behaviours and patterns. It is an important aspect of positive economics because it involves looking at facts and evidence in order to make logical and rational forecasts and projections.


	
•  Positive economic statements can then be accepted or rejected based on empirical evidence.


	
•  However, economics is not an exact science so controlled experiments are not viable to collect conclusive empirical evidence to prove or refute a hypothesis. In reality, economic behaviour is influenced by value judgements (at least to some extent) so this makes it more challenging to justify the acceptance or rejection of a hypothesis.











Refutation





	
•  Refutation is the means of a statement or theory being proven to be wrong or false by the empirical evidence.


	
•  Positive economic statements can be verified (and accepted) or refuted (and rejected) by referring to facts, data and empirical evidence. In some cases, further investigation may be required.


	
•  As an evolving social science, positive statements in economics are accepted or refuted by using ongoing research, data and empirical evidence.













The role of normative economics




	
•  Normative economics considers people’s varying opinions and beliefs about what should be (or what ought to be). They are statements of ‘what should be’ (or ‘what ought to be’).


	
•  Normative economic statements or claims are subjective rather than objective (unbiased), expressing a value judgement about what is perceived to be desirable or undesirable about the economy.


	
•  Such statements cannot be verified or refuted by referring to facts, evidence or further investigation.


	
•  While it would seem logical and rational for economists to rely on evidence-based research to determine economic policies, most decisions are still influenced by value judgements (the opinions and beliefs of policymakers), at least to some extent.







Examples of normative economic statements




	
•  The government should increase the tax rate of the economy’s highest income earners in order to redistribute income and wealth.


	
•  Professional male soccer (football) players are paid way too much money.


	
•  The country should impose higher tariffs (import taxes) on foreign goods entering the country.


	
•  The government should spend more money on education and healthcare services, and far less on national defence.


	
•  The economy ought to provide adequate housing for each and every citizen.


	
•  The government should ensure that all children study English, Mathematics and Science up to the age of 18.










Value judgements in policymaking




	
•  Value judgements are the views and beliefs of individuals and societies about what is deemed to be right or wrong, or good or bad. These judgements are often influenced by morals, ethics and cultural values and attitudes.


	
•  Value judgements can play a crucial role in policymaking especially because economic well-being is concerned with the perceived desirability or undesirability of different economic policies.


	
•  Individuals, households, firms and governments make different choices based on their different tastes, preferences, values and beliefs. The existence of value judgements means that economics is not purely objective or free from subjectivity.











The meaning of equity and equality





	
•  The concept of equity is about economic fairness with regards to the distribution of resources. It covers matters such as taxation policies and welfare payment schemes.


	
•  Equity is not the same as equality; for example, most economists regard it equitable for people who are more qualified, skilled and experienced to be rewarded higher incomes.


	
•  Equity is used to justify, from an economic perspective, to rationalize the allocation of scarce resources.


	
•  Critics of free market economics raise concerns about the subjective nature of what is ‘fair’ and the subsequent disparities in income and wealth.


	
•  By contrast, equality is about social fairness and collectivism from the perspective of a planned economic system, where individuals are viewed to have equal recognition and value.


	
•  Inequalities in economic opportunities and the distribution of income and wealth are major concerns for many economies. For example, low-income families may be denied access to high-quality education, healthcare and job opportunities.


	
•  When considered together, equity and equality provide policymakers with a clearer understanding of the impact of formulating and executing different policy decisions.













Economic thought (AO2)




	
•  This IB Economics syllabus requires you to understand different economic schools of thought from the eighteenth century to the twenty-first century.


	
•  Economic thought refers to the origins of economic ideas, that is, a historical account of the different economic ideas, beliefs and principles that dominate the study of economics as a social science.


	
•  The hypotheses, models and theories used in the study of economics have changed considerably throughout history because economic ideas, beliefs and principles adapt to changes in the real world.


	
•  Having a historical context of economics can help economists to explain and gain a better understanding of how economists approach the world.
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TOP TIP!


Students often use the terms equity and equality interchangeably. This is incorrect. In a nutshell, the difference between these concepts is: equity is about economic fairness whereas equality is about social fairness.
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Eighteenth century




	
•  In An Inquiry into the Nature and Causes of the Wealth of Nations (1776), Scottish economist and philosopher Adam Smith laid the foundations of free market (or laissez-faire) economics.


	
•  Adam Smith (1723–90) believed in a laissez-faire approach to economics, that is, leaving things to their own devices, without direct government interference.


	
•  He argued that rational economic behaviour (people acting in their best self-interest) and competition are fundamental to economic well-being and prosperity.


	
•  He used the idea of the invisible hand as a metaphor to describe how each person’s rational behaviour and decision-making ends up benefiting society as a whole as they are incentivized to act in their best self-interest.


	
•  Smith refuted the idea of mercantilism that had dominated economics throughout the sixteenth to eighteenth centuries. Mercantilism was based on the idea that a country’s wealth and economic power were limited to its finite resources, so there was a key role for the government in tightly controlling all aspects of economic activity. Smith argued this hindered economic growth and development.


	
•  Adam Smith is regarded by most people as the originator of classical economic theory, which dominated the nineteenth century.










Nineteenth century




	
•  Classical economics is a broad term that refers to economic theories and models focused on the self-regulation of markets to allocate resources in an efficient way. Economics in the nineteenth century was dominated by classical microeconomic concept of utility theory, the concept of the margin and classical macroeconomics (Say’s Law).


	
•  Classical economics is the opposite of a ‘command and control’ economic philosophy, with minimal government intervention in economic activity, favouring competitive markets and international trade.


	
•  An important development of classical economics was the concept of utility theory. Utility is the degree of satisfaction gained from the consumption or use of a good or service. British economist Alfred Marshall (1842–1924) believed that rational consumers aim to maximize personal satisfaction (utility maximization) from the purchase and use of a product. It is assumed that utility can be quantified to illustrate the varying degree of satisfaction from consumption.


	
•  Classical microeconomics also developed the notion of marginal utility, which refers to the benefit or satisfaction gained from consuming an additional unit of a product. The law of diminishing marginal utility states that as the level of consumption of a product increases, the marginal utility (additional satisfaction) derived from the consumption of each extra unit eventually declines.


	
•  Classical macroeconomics includes Say’s Law. French classical economist Jean-Baptiste Say (1767–1832) advocated the liberalization of markets in favour of competition and free international trade. Say’s Law states that the ability to purchase a product depends on the ability to produce or supply, thereby generating income. Essentially, this means that supply can create its own demand. Say’s Law implies that national output is the key to economic growth and prosperity, so nations should focus on production rather than consumption.


	
•  German philosopher and sociologist Karl Marx (1818–83) challenged the classical economic school of thought. His critique of classical economics saw an alternative perspective, by focusing on the surplus value created by a capitalist (free market) economic system. Marxism is an approach to macroeconomic policy that focuses on meeting the needs and values of the masses, rather than for the privilege of a minority of capitalists. Marx’s ideas thrived following the spread of communism throughout Eastern Europe during the first half of the twentieth century.










Twentieth century




	
•  Following the Great Depression of 1929–39 and the Second World War, classical economics declined in popularity in favour of the Keynesian revolution. The Keynesian school of economic thought is named after British economist John Maynard Keynes (1883–1946), who advocated the use of interventionist macroeconomic policies to get the world’s economies out of a global depression. Keynes had refuted Say’s Law. He argued that the Great Depression created over-production in the economy and the subsequent deficiency of demand.


	
•  Keynesian economics promotes the notion of increasing government expenditure and lowering taxes in order to stimulate aggregate demand in the economy. Essentially, he argued that governments can spend their way out of a recession.


	
•  Keynes was overly critical of the classical economic argument that incentives of market forces or the invisible hand would be enough to help any economy recover from an economic depression and the macroeconomic problems of long-term unemployment. His ideas resurfaced in the twenty-first century during the global financial crisis of 2008 and again during the coronavirus pandemic (COVID-19), with fiscal stimulus programmes used by all governments around the world to support their economies.


	
•  While Marx criticized capitalism, Keynes sought the opportunity for the government to justify its existence and its role in managing the economy to deal with the fluctuations in the business cycle (the sequence of booms and slumps).


	
•  Monetarism is mainly associated with 1976 Nobel Prize-winning American economist Milton Friedman (1912–2006). It gained prominence during the 1970s when interest rate hikes were used to help combat inflationary pressures. Monetarists argue that poor management of the economy’s money supply is the primary cause of macroeconomic problems, like inflation.


	
•  The monetarist revolution refuted Keynes’ economic ideas in the latter part of the twentieth century. Monetarists believe that the use of monetary policy helps to maintain low inflation, thereby enabling a country to achieve long-run economic growth and sustained economic development.


	
•  During the 1980s, the new classical counter revolution (NCCR) came to the forefront. This economic school of thought favours supply-side macroeconomic policies (such as privatization of state-owned enterprises and deregulation of markets in order to stimulate competition) as well as the withdrawal of government regulation of markets. Supply-side economists of the twentieth century were influenced by Say’s Law.










Twenty-first century




	
•  The twenty-first century has seen economics being increasingly influenced by other disciplines such as psychology and marketing, paving the way for the growing role of behavioural economics and the impacts on policymaking. This school of thought refutes classical economic thought that consumers are rational decision makers, emphasizing instead the role of emotions as well as social and cultural factors that influence choice and decision-making. Behavioural economists argue this makes economics more accurate and realistic as it considers how humans decide how to act.


	
•  American economist Richard Thaler, winner of the Nobel Memorial Prize in Economic Sciences in 2017 for his work on nudge theory, examined how indirect suggestions and positive reinforcements (nudges) can influence people to act in a desired way. Behavioural economics provides a framework for firms and decision makers to create opportunities to nudge people towards choices that are more sensible (be they wiser, safer and/or healthier alternatives).


	
•  Behavioural economists argue that people do not always behave in a rational way that is in their best interest. For example, people do not always have the time, information or other resources needed to make a logical choice that optimizes their utility. Hence, behavioural economics allows for irrational consumer behaviour and tries to better understand why people might behave in such a way.
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Figure 2.2 The circular economy










	
•  The growing importance of globalization and the push for environmental protection of the planet have also led to increasing awareness of the interdependencies that exist between the economy, society and the environment. This has also steered economics in the direction of having an understanding and appreciation of sustainability and the circular economy.


	
•  Sustainability is the ability of an economy to conduct economic activity indefinitely. This means whatever the economy does today does not compromise the opportunities for future generations. Overfishing and deforestation, for example, are unsustainable and a threat to economic development.


	
•  A circular economy describes a system in which raw materials, components and other resources are used sustainably to generate goods and services. The model is underpinned by a transition to green and renewable energy sources so that consumption and resource usage enable recycling, reuse and regeneration in the manufacturing cycle.
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PAPER 2 EXAM PRACTICE QUESTION 2.1


Explain how economists might go about testing the claim that ‘as the price of a strawberry falls, its quantity demanded will increase’.


[4 marks]
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PAPER 1 EXAM PRACTICE QUESTION 2.2


Explain the importance of the ceteris paribus assumption for economic models and theories.


[10 marks]
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PAPER 1 EXAM PRACTICE QUESTION 2.3


Explain the significance of normative and positive economics in the academic study of economics as a social science.


[10 marks]
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PAPER 2 EXAM PRACTICE QUESTION 2.4


Outline two reasons why consumers might make irrational economic decisions.


[4 marks]
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Chapter summary




	
•  Economic methodology is the study of the processes, practices and principles of economics. It includes the models, theories and assumptions underlying the roles of positive and normative economics.


	
•  Positive economics is the study of economics that is provable, that is, factual statements of ‘what is’ rather than ‘what ought to be’. It covers the use of logic, the use of hypotheses, models and theories, the ceteris paribus assumption, empirical evidence and refutation.


	
•  Logic is about rationality and reasoning, which are used to explain economic phenomena and policymaking.


	
•  A hypothesis is an assumption or notion made before research has been conducted. It enables economists to test the premise to gain a clearer understanding of the issue. A model occurs when a hypothesis has been repeatedly tested and proven to help explain the real world. A theory is a broad generalization used to explain situations already supported by economic evidence and data from economic models.


	
•  Ceteris paribus is a Latin phrase meaning ‘all other factors remaining constant’ or ‘all else unchanged’. It is used to explain causes and effects of economic variables.


	
•  Empirical evidence refers to data and information acquired by observation or experimentation of certain behaviours and patterns in order to make logical and realistic projections for the future.


	
•  Refutation is the means of a statement or theory being proven to be wrong or false by the use of empirical evidence.


	
•  Normative economics is based on opinions and beliefs. It involves value judgements in policymaking and interpreting the meaning of equity and equality.


	
•  Value judgements are the beliefs of individuals and societies about what is regarded as right or wrong.


	
•  Equity is the concept of economic fairness in the distribution of resources.


	
•  Equality is the concept of social fairness and collectivism, focusing on people having the same recognition and opportunities.


	
•  Economic thought refers to the origins of economic ideas. The IB syllabus looks at a historical account of the different economic ideas, beliefs and principles that have governed economics as a social science since the eighteenth century.


	
•  Eighteenth-century economics was dominated by the thoughts of Adam Smith and laissez-faire economics. He argued that rational economic behaviour and competition are vital to economic well-being. He used the idea of the invisible hand to describe how each decision maker’s rational behaviour benefits society as a whole.


	
•  Nineteenth-century economics was dominated by classical economics, which focused on the self-regulation of markets to allocate resources efficiently. It favours competitive markets and international trade over command and control of the economy. It includes the idea that rational consumers aim to maximize personal satisfaction (utility maximization). It also includes Say’s Law, which states that the ability to purchase a product depends on the ability to produce or supply it. Say’s Law implies that national output is vital for economic growth and prosperity. Marxism is a critique of classical economics, with its emphasis on meeting the needs and values of the masses, not just the privileges of minority capitalists.


	
•  Twentieth-century economics saw the rise of the Keynesian revolution, which focused on the use of interventionist macroeconomic policies, namely by increasing government expenditure and/or lowering taxes to stimulate spending in the economy. The latter part of the century saw the rise of monetarism (the new classical counter revolution), which focused on managing the economy’s money supply to avoid macroeconomic problems such as inflation.


	
•  The twenty-first century has seen the growing role of behavioural economics with its links to psychology as well as the increasing awareness of the interdependencies that exist between the economy, society and the environment. This has caused many economies to move towards a circular economy model.
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3 Demand








The law of demand (AO2)




	
•  Demand is the quantity of a good or service that customers are willing and able to buy at a given price, in a particular period of time.


	
•  It refers to the willingness and ability of consumers to pay a certain price in a market to obtain a particular good or service.


	
•  Price is the amount of money consumers pay to purchase a good or service.


	
•  The law of demand states that the quantity demanded for a good or service falls as its price rises, ceteris paribus. Likewise, the quantity demanded rises as prices fall, ceteris paribus. This can be illustrated using a demand curve (see Figure 3.1).







Assumptions underlying the law of demand (HL only)


There are three causes of the negative relationship between price and quantity demanded:




	
•  The income effect – as the price of a product falls, the real income of consumers rises, ceteris paribus. This means consumers are able to buy more products at lower prices.


	
•  The substitution effect – as the price of a good or service falls, more consumers are able to pay, so they are more likely to buy the product, that is, substitute it for alternative products that consumers might have previously bought.


	
•  The law of diminishing marginal utility – as people consume more of a particular good or service, the utility (satisfaction) gained from the marginal unit of consumption declines. Hence, consumers will purchase more of the same product only at a lower price.













Demand curve (AO4)




	
•  The demand curve shows the inverse relationship between price (shown on the y-axis) and quantity demanded of a product (shown on the x-axis), as illustrated in Figure 3.1. It shows how much of a product is demanded at different prices.


	
•  The amount of a good or service demanded at each price level is called the quantity demanded.
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Figure 3.1 The demand curve
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TOP TIP!


Be careful when using the term ‘demand’ and the phrase ‘quantity demanded’ as these are often confused by candidates in the exams. Demand refers to an entire demand curve, whereas quantity demanded refers to a specific point on the demand curve.
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Relationship between an individual consumer’s demand and market demand (AO2)




	
•  The market demand curve refers to the sum of all individual consumers’ demand for a product in a market at each given price level.


	
•  A market is any place where transactions take place between buyers and sellers.


	
•  Market demand is found by adding up all individual demand at each price level (see Figure 3.2); for example, if a theatre charges $50 for tickets per week and the demand from female customers is 600 and 400 from male customers, then the market demand is 1,000 theatre tickets.
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Figure 3.2 The market demand curve













Non-price determinants of demand (AO2)


Price is not the only factor that affects the demand for a good or service. Non-price determinants of demand are the various factors other than the price of the good or service that affect the demand for the product. Non-price factors that can change the demand (or shift the demand curve) for a good or service depend on ‘HIS AGE’:




	
•  Habits, fashions and tastes – products that become fashionable (for example, smartphones) cause an increase in demand, whereas unfashionable items (for example, last season’s clothes) cause a reduction in the level of demand.


	
•  Income – higher levels of real disposable income mean that consumers are able and willing to buy more goods and services, ceteris paribus. The average person in the USA, for example, will have a higher level of demand for goods and services compared to the average person in Chile, Mozambique or Vietnam.


	
•  Substitutes and complements – if the price of a product falls, then it is likely the demand for the substitute product will also fall. By contrast, if the price of a product increases, then the demand for its complementary product is likely to fall.


	
•  Advertising – marketing messages are used to inform, remind and persuade people to buy a firm’s products. Businesses such as Coca-Cola, McDonald’s and Samsung spend hundreds of millions of dollars each year on their advertising to increase the demand for their products.


	
•  Government policies – rules and regulations such as the legal minimum age to buy tobacco and alcohol, for example, will affect the demand for these products. By contrast, government initiatives to educate people about environmentally friendly cars could encourage more demand for electric cars.


	
•  Economy – whether the country is in a recession or boom has a huge impact on the spending patterns of the population; for example, the global financial crisis of 2008 and the COVID-19 pandemic caused the demand for most goods and services around the world to decline.










Movements along the demand curve and shifts of the demand curve (AO2, AO4)




	
•  A change in the price of a good or service causes a movement along the demand curve.


	
•  An increase in price will cause a contraction in the quantity demanded for the product.


	
•  A reduction in price will cause an expansion in the quantity demanded (see Figure 3.3).
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Figure 3.3 Movements along a demand curve










	
•  A change in non-price factors that affect demand causes a shift in the demand curve.


	
•  A decrease in demand is shown by shifting the demand curve to the left (see Figure 3.4), from D1 to D2, resulting in less quantity demanded at all price levels. At a price of P1, demand falls from Q1 to Q2.


	
•  By contrast, an increase in demand is shown by a rightwards shift in the demand curve from D1 to D3. At a price of P1, demand increases from Q1 to Q3.
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Figure 3.4 Shifts in the demand curve
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TOP TIP


Ensure you know the difference between changes in demand and changes in the quantity demanded. A shift in demand is caused by changes in non-price factors that affect demand, such as changes in real disposable income. A movement along a demand curve is caused by changes in the price of the product.
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TOP TIP!


Students often claim that the imposition of a sales tax on a product shifts its demand curve to the left. This is incorrect as the indirect tax is imposed on firms, which raises their costs of production. The tax increases the price of the product so therefore reduces the quantity demanded, that is, it causes a movement (contraction) along the demand curve.
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PAPER 2 EXAM PRACTICE QUESTION 3.1


Distinguish between the income effect and the substitution effect.


[2 marks]
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PAPER 3 EXAM PRACTICE QUESTION 3.2


With the aid of an appropriate diagram, explain the impact on the demand for overseas holidays following:




	
a  A significant increase in the average price of domestic holidays.

[4 marks]




	
b  A sudden increase in unemployment in the economy.

[4 marks]
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PAPER 1 EXAM PRACTICE QUESTION 3.3


Explain the difference between a shift of the demand curve for a product and a movement along the demand curve of the product.


[10 marks]
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Chapter summary




	
•  The law of demand states that the quantity demanded of a product will fall if the price increases, and vice versa, ceteris paribus. This explains the nature of the downward sloping demand curve.


	
•  There are three causes of the negative relationship between price and quantity demanded:



	
1  The income effect means that as the price of a product falls, the real income of consumers rises, ceteris paribus.


	
2  The substitution effect means that as the price of a good or service falls, more consumers are able to pay, so they are more likely to buy the product.


	
3  The law of diminishing marginal utility means that consumers will purchase more of the same product only at a lower price due to declining utility gained from each successive unit of consumption. (HL only)






	
•  The demand curve is an illustration of the inverse relationship between price and quantity demanded of a product (see Figure 3.1). Hence, it is drawn as a downward sloping curve.


	
•  The market demand curve refers to the sum of all individual consumers’ demand for a product in a market at each given price level (see Figure 3.2).


	
•  The non-price determinants of demand include:



	
•  income of consumers


	
•  tastes and preferences


	
•  future price expectations


	
•  the price of related goods (substitutes and complements)


	
•  the number of consumers.






	
•  Substitutes are products that can be used instead of each other, such as Coca-Cola or Pepsi, and tea or coffee.


	
•  Complements are products that are jointly demanded, such as cinema movies and popcorn, Doritos and salsa dip, or pencils and erasers.


	
•  Movements along an existing demand curve are caused by price fluctuations. An increase in price results in a contraction in quantity demanded, whereas a reduction in price causes an expansion in quantity demanded.


	
•  A shift of the demand curve occurs when the entire demand curve for a product changes due to a change in a non-price factor that affects demand. An increase in demand is shown by a rightward shift of the demand curve, whereas a decrease in demand is shown by a leftward shift.
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4 Supply








The law of supply (AO2)




	
•  Supply refers to the quantity of goods or services that firms are willing and able to sell at any given price, per time period.


	
•  The law of supply states that there is a positive relationship between the quantity supplied of a product and its price, ceteris paribus. This is shown diagrammatically by an upward sloping supply curve (see Figure 4.1).


	
•  There are two reasons for this law (the positive relationship between price and supply):



	
•  Existing firms in the market can earn higher profit margins if they supply more.


	
•  More firms enter the market as higher prices allow them to cover production costs and earn a profit.










Assumptions underlying the law of supply (HL only) (AO2)




	
•  There are two key assumptions behind the law of supply (or the general rule for the supply curve being upward sloping as illustrated in Figure 4.1):



	
•  The law of diminishing marginal returns (DMR) occurs when employing additional variable factors of production (such as labour) causes the marginal return (additional output) to eventually decline. The diminishing marginal returns from each successive worker, for example, lead to higher production costs, meaning that firms require a higher price to create incentives to produce more output.


	
•  Increasing marginal costs occur when the additional costs of each extra unit of output start to rise (due to diminishing marginal returns). Hence, firms are only willing and able to increase production if they receive a higher price for the additional units of output.






	
•  Marginal cost refers to the cost of producing an additional unit of output. It is calculated as the change in total costs divided by the change in total output, that is, MC = ∆TC ÷ ∆Q.


	
•  The principle of increasing marginal costs underpins the law of supply (that is, the direct relationship between price and quantity supplied). Essentially, the supply curve slopes upwards because higher prices are needed to cover the higher marginal costs of production when a firm increases its output.
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TOP TIP!


The law of diminishing marginal returns applies only in the short run, simply because all factors of production are variable in the long run.
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The supply curve (AO4)




	
•  The supply curve for a product is shown diagrammatically as an upward sloping linear line, due to the law of supply.


	
•  In Figure 4.1, an increase in the price from P1 to P2 creates an incentive for firms to spend more time and effort to produce (or supply) the product. Hence, the quantity supplied increases from Q1 to Q2 units.
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Figure 4.1 The supply curve













Relationship between an individual producer’s supply and market supply (AO2)




	
•  The market supply curve refers to the sum of all individual supply of a product at each price level (see Figure 4.2).
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Figure 4.2 The market supply curve













Non-price determinants of supply (AO2)


Price is not the only determinant of the level of supply of a good or service. Non-price determinants of supply refer to the various factors other than the price of a product that affect the supply of the good or service. These factors change the supply (shift the supply curve) of a good or service.




	
•  Changes in costs of factors of production (FOPs) – a change in the costs of production will shift the supply curve of the product. An increase in production costs will shift the supply curve to the left, as higher costs mean existing firms cannot produce the same quantity as before and fewer firms are willing and able to supply output, and vice versa.
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Figure 4.3 Non-price determinants of supply










	
•  Prices of related goods (in the cases of joint and competitive supply) – in the case of competitive supply, the output of one product (such as apples) prevents or limits the output of alternative products (such as oranges) due to competing resources (such as land resources). In the case of joint supply, an increase in the production of one product automatically increases the supply of another product, such as cows and milk or lamb and wool.
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TOP TIP!


‘Rising demand for a product will cause an increase in the supply of the product, which will probably mean lower prices.’


This is incorrect as rising demand (shown by a rightwards shift of the demand curve) would cause equilibrium price to rise, which could lead to an expansion along the supply curve, that is, an increase in the quantity supplied (rather than an increase in supply).
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•  Indirect taxes and subsidies – indirect taxes are imposed on the purchase of goods and services, so effectively increase the price paid by customers. Indirect taxes reduce market supply, illustrated by a leftwards shift of the supply curve, due to higher production costs. By contrast, subsidies are financial assistance from the government to encourage production of certain products by reducing production costs. Hence, subsidies shift the supply curve of a product to the right.
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TOP TIP!


‘An increase in taxes causes demand to fall, ceteris paribus.’


This statement is not entirely true, as it is a change in direct taxes that can cause a fall in quantity due to lower disposable incomes. However, an increase in indirect taxes (which are imposed on producers and suppliers) would shift the supply curve to the left, due to higher costs of production.
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•  Future price expectations – if producers expect the demand for their product to increase sharply in the near future (thus causing higher prices and profit margins), the firms are likely to increase production in the current time period, ceteris paribus. Likewise, if producers are concerned about future market conditions deteriorating (thus causing prices to fall in the future), current production will fall, ceteris paribus.


	
•  Changes in technology – advances in technology lead to more production of goods and services, as shown by a rightwards shift of the supply curve.


	
•  Number of firms – if the market for a product grows, it is likely that there will be an increase in the number of firms in the industry. Hence, an increase in the number of firms in a market will shift the supply curve to the right, and vice versa.
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TOP TIP!


One way to remember the key non-price determinants of supply is to use the acronym CISTERN: Costs of production (of factors of production), Indirect taxes, Subsidies, Technological change, Expectations of future prices, prices of Related products (joint supply or competitive supply) and the Number of firms in the industry.
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Movements along and shifts of the supply curve (AO2)




	
•  A movement along a supply curve occurs if the price changes, causing a change in the quantity supplied (see Figure 4.4).


	
•  A shift in the supply curve is caused by changes in non-price factors that affect supply, causing a change in supply. In Figure 4.5, a rightwards shift (from S1 to S2) shows an increase in supply whereas a leftwards shift (from S1 to S3) shows a decrease in supply.
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Figure 4.4 Movements along the supply curve
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Figure 4.5 Shifts in the supply curve
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TOP TIP!


It is essential that you know the difference between a shift in supply and a movement of supply. A shift in supply is caused by changes in non-price factors that affect supply (such as taxes and subsidies). A movement in supply is caused only by changes in price.
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PAPER 2 AND PAPER 3 EXAM PRACTICE QUESTION 4.1


With the use of a suitable diagram, explain the impact on the market for laptop computers due to the following events:




	
a  The government gives laptop producers a per unit subsidy to increase the output for educational purposes.

[4 marks]




	
b  An increase in the average wage rate for workers at laptop manufacturing firms.

[4 marks]
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PAPER 1 EXAM PRACTICE QUESTION 4.2


Explain two factors that can cause a firm’s supply curve to shift to the right.


[10 marks]
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PAPER 1 EXAM PRACTICE QUESTION 4.3


Explain the difference between a shift of the supply curve for a product and a movement along the supply curve of the product.


[10 marks]
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Chapter summary




	
•  Supply is the quantity of a good or service that firms are willing and able to provide at given prices, per time period.


	
•  The law of supply states that there is a direct (or positive) relationship between quantity supplied and price.


	
•  The law of diminishing marginal returns is an assumption underlying the law of supply. It states that by employing additional variable factors of production while keeping a least one factor of production fixed, the marginal returns will eventually decline. (HL only)


	
•  The assumption of increasing marginal costs also underpins the law of supply. The supply curve slopes upwards because higher prices are needed to cover the higher marginal costs of production when a firm increases its output. (HL only)


	
•  The supply curve is a diagrammatic representation of the relationship between the price of a good or service and the quantity supplied, for a given time period.


	
•  Market supply refers to the sum of all individual supplies of producers in the market at each given price level for a product.


	
•  Non-price determinants of supply are the factors other than the price of a product that affect its supply in the market. These include:



	
•  changes in costs of factors of production


	
•  prices of related goods (joint and competitive supply)


	
•  indirect taxes and subsidies


	
•  future price expectations


	
•  changes in technology


	
•  the number of firms in the market.






	
•  Competitive supply means the output of one product prevents or limits the supply of alternative products, due to competing resources.


	
•  Joint supply refers to the supply of a product that results in the output of at least one by-product.


	
•  Indirect taxes are government levies on expenditure rather than on incomes. Essentially, these taxes add to the producer’s costs of production.


	
•  Subsidies are a form of financial aid from the government to encourage the output or supply of certain products by reducing the costs of production.


	
•  A movement along a supply curve occurs if the price changes, causing a change in the quantity supplied (see Figure 4.4).


	
•  A shift of the supply curve is caused by changes in non-price factors that affect supply, causing a change in supply at all given prices (see Figure 4.5).
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5 Competitive market equilibrium








Demand and supply curves forming a market equilibrium (AO4)




	
•  Market equilibrium is the condition that holds when a market is cleared of any shortage or surplus. It occurs at the price where the quantity demanded for a product is equal to the quantity supplied (see Figure 5.1).
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Figure 5.1 Competitive market equilibrium










	
•  A change in a non-price determinant of supply or demand will cause a change in the market equilibrium price. For example:



	
•  A successful advertising campaign that promotes the consumption of fresh fish will shift its demand curve to the right, ceteris paribus. This will, subsequently, cause the equilibrium price and quantity traded to rise.


	
•  A severe drought would shift the supply curve of agricultural products to the left, ceteris paribus. This would then lead to an increase in the equilibrium price and a fall in the quantity traded.






	
•  Market disequilibrium occurs when the quantity demanded for a product is not equal to the quantity supplied. This is inefficient due to shortages (excess demand) or surpluses (excess supply).


	
•  Excess supply occurs when the price is set above the equilibrium, that is, a surplus exists, as shown by the green shaded area in Figure 5.2.


	
•  Excess demand occurs when the price is set below the equilibrium, that is, a shortage exists, as shown by the green shaded area in Figure 5.3.
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Figure 5.2 Excess supply (surplus)
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Figure 5.3 Excess demand (shortage)










	
•  In competitive markets, without government intervention, there will be a tendency for price to fall if there is excess supply in order to remove the surplus.


	
•  In competitive markets, without government intervention, there will be a tendency for price to increase if there is excess demand in order to remove the shortage.









Shifting the demand and supply curves (AO2, AO4)




	
•  Changes in a non-price determinant of supply or demand will cause a shift in the curve, ceteris paribus. This will subsequently cause a change in the equilibrium price and quantity traded.


	
•  In Figure 5.4, an increase in average household incomes causes the demand curve for smartphones to shift outwards from D1 to D2, resulting in equilibrium price rising from P1 to P2 and equilibrium quantity to also increase from Q1 to Q2.


	
•  By contrast, a fall in the price of e-books causes the demand for physical books to decline, as shown in Figure 5.5. The lower price of the substitute product causes the demand curve for physical books to shift inwards from D1 to D2, resulting in equilibrium price falling from P1 to P2 and equilibrium quantity also falling from Q1 to Q2.
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Figure 5.4 An increase in demand
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Figure 5.5 A fall in demand










	
•  Market prices can also change due to changes in non-price factors that shift the supply curve. In Figure 5.6, technological progress increases the production of electric vehicles (EVs), which shifts the supply curve to the right from S1 to S2. This subsequently reduces the market price from P1 to P2 and expands the quantity demanded from Q1 to Q2.


	
•  By contrast, in Figure 5.7, severe weather conditions shift the supply curve of strawberries to the left from S1 to S2, thereby increasing the equilibrium price (from P1 to P2) and reducing the quantity traded (from Q1 to Q2).
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Figure 5.6 An increase in supply
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Figure 5.7 A fall in supply














Functions of the price mechanism (AO2)




	
•  The price mechanism refers to the means by which the market forces of demand and supply determine the allocation of an economy’s resources between competing uses.


	
•  Recall that the basic economic problem stems from finite resources and infinite wants. This creates a situation of scarcity, so imposes production and consumption choices and opportunity costs. Fluctuating market prices reflect the relative scarcities and surpluses in different markets.


	
•  There are two main functions of the price mechanism – resource allocation (signalling and incentives functions) and rationing (of scarce resources).



	
•  The signalling function of the price mechanism provides information to producers and consumers regarding where resources are required (in markets where prices increase) and where they are not (in markets where prices fall).


	
•  The incentives function of the price mechanism provides an enticement (motivation) for producers and consumers to change their behaviour in order to maximize their self-interest (private benefits).






	
•  The rationing function of the price mechanism deters some consumers from buying a product or resource due to higher prices, thereby rationing (preserving) it. It serves to ration scarce resources when the demand for a product exceeds its supply.


	
•  In a market economy, the signalling function and incentives function result in the reallocation of resources if prices change due to changes that affect the demand for or supply of a product (see Figure 5.8).
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Figure 5.8 Signalling and incentive functions of price













Consumer and producer surplus (AO2, AO4)




	
•  Consumer surplus refers to the benefits to buyers who are able to purchase a product for less than they are willing to do so. It is the difference between the price that customer actually pays and the price they were willing and able to pay (see Figure 5.9).
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Figure 5.9 Consumer surplus










	
•  By contrast, producer surplus is the difference between the price that firms actually receive and the price they were willing and able to supply at (see Figure 5.10).
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Figure 5.10 Producer surplus










Social/community surplus




	
•  Community surplus (or social surplus) is the sum of consumer and producer surplus at a given market price and output.


	
•  It represents the total benefit available to society from an economic activity. In Figure 5.11, community surplus is represented by the area ABC, consisting of both consumer surplus (area A,B,Pe) and producer surplus (area B,C,Pe).


	
•  Community surplus is maximized when the price mechanism clears the market of any excess demand or supply. As there are no shortages or surpluses at the market clearing price (Pe) and equilibrium quantity (Qe), resources are allocated efficiently (at point B). Hence, social surplus is maximized.
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Figure 5.11 Social surplus
















Allocative efficiency at the competitive market equilibrium (AO2, AO4)




	
•  In a competitive market economy, allocative efficiency occurs at the market equilibrium because both consumer and producer surplus are maximized at this point. This means resources are allocated in an optimal way such that changing the price would result in consumers or producers being worse off.


	
•  Allocative efficiency can be illustrated by using a production possibility curve (PPC) diagram (see Figure 5.12).


	
•  Any point on the PPC represents allocative efficiency because any reallocation of resources will make others worse off. For example, if the economy reallocates production from point A to point B, then males benefit while females lose. The opposite is true if the economy moves from point B to point A.


	
•  Allocative efficiency can be increased if producing or buying more of something results in a greater marginal benefit (MB) to society than marginal cost (MC). This means that allocative efficiency is achieved when the marginal benefit of economic activity is equal to the marginal cost, that is, MB = MC.
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Figure 5.12 Allocative efficiency
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TOP TIP!


While this section of the syllabus examines the benefits of the price mechanism in terms of allocating scarce resources in an efficient way, this does not always occur in the real world. Market failure (see Chapters 11 and 12) occurs when the signalling, incentive and rationing functions of the price mechanism fail to operate optimally, thereby leading to a deterioration in economic well-being.
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PAPER 2 AND PAPER 3 EXAM PRACTICE QUESTION 5.1


Using an appropriate diagram, explain the term competitive market equilibrium.


[4 marks]
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PAPER 2 AND PAPER 3 EXAM PRACTICE QUESTION 5.2


Using an appropriate diagram, distinguish between excess demand and excess supply.


[4 marks]
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PAPER 3 EXAM PRACTICE QUESTION 5.3




	
a  Plot the following demand and supply schedules and state the equilibrium price and equilibrium quantity.

[4 marks]












	P ($)

	Qd (’000)

	Qs (’000)










	 0

	80

	 0






	10

	60

	20






	20

	40

	40






	30

	20

	60






	40

	 0

	80











	
b  Using your diagram from part a, calculate the quantity of excess demand at a price of $10 per unit and the excess supply at a price of $40 per unit.

[2 marks]
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PAPER 2 AND PAPER 3 EXAM PRACTICE QUESTION 5.4


Using an appropriate demand and supply diagram, explain the difference between consumer and producer surplus.


[4 marks]
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TOP TIP!


Higher Level students need to be able to calculate consumer surplus and producer surplus from a diagram.
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PAPER 3 EXAM PRACTICE QUESTION 5.5




	
a  Use the data in the demand and supply schedules below to plot a demand and supply diagram.

[4 marks]












	P ($)

	Qd

	Qs










	 0

	40

	 0






	20

	30

	10






	40

	20

	20






	60

	10

	30






	80

	 0

	40











	
b  Use your graph to calculate the total value of the consumer surplus at the competitive market equilibrium price.

[2 marks]




	
c  Calculate the total value of the producer surplus if the price falls to $20.

[2 marks]




	
d  Calculate the quantity of excess demand at a price of $20 per unit.

[2 marks]




	
e  Calculate the quantity of excess supply at a price of $60 per unit.

[2 marks]
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Chapter summary




	
•  Market equilibrium occurs when the quantity demanded for a product is equal to the quantity supplied of the product, that is, there are no shortages or surpluses.


	
•  Diagrammatically, market equilibrium is determined at the point where the demand and supply curves intersect. Hence, shifts in the demand or supply curves will create a new market equilibrium.


	
•  Excess supply occurs when the price of a product is set above the equilibrium (see Figure 5.2).


	
•  Excess demand occurs when the price of a product is set below the equilibrium (see Figure 5.3).


	
•  The price mechanism involves the interactions between buyers and sellers (the forces of demand and supply) in the free market in order to allocate resources, thereby determining production and consumption choices.


	
•  The functions of the price mechanism are resource allocation (by signalling and incentives) and rationing.


	
•  The signalling function provides information to producers and consumers regarding where resources are required (in markets where prices increase) and vice versa.


	
•  The incentives function provides motivation for producers and consumers to change their behaviour to maximize their self-interest (private benefits).


	
•  The rationing function deters some consumers from buying a product due to higher prices, thereby rationing (preserving) it.


	
•  Consumer surplus is the benefit to consumers who are able to purchase a product for less than they are willing to do so.


	
•  Producer surplus is the difference between the price that firms actually receive and the price they were willing and able to supply at.


	
•  Community surplus (also known as social surplus) is the sum of consumer and producer surplus at a given market price and output.


	
•  Consumer surplus and producer surplus (and therefore social surplus) are maximized at the competitive market equilibrium.


	
•  Allocative efficiency is the socially optimal situation that occurs when resources are distributed in such a way that no one can be made better off without making someone else worse off. Formulaically, this occurs when marginal benefit (MB) equals marginal cost (MC).


	
•  Diagrammatically, allocative efficiency is maximized at the competitive market equilibrium because this is also where social surplus is maximized.




[image: ]













OEBPS/OEBPS/images/tp.png
FOR THE
1B DIPLOMA
PROGRAMME

Economics

Paul Hoang

PREPARE FOR SUCCESS

{+ HODDER





OEBPS/OEBPS/images/c1.png
Also available

Economics for the IB Diploma 9781510479142

Ensure full coverage of the syllabus with this
comprehensive guide, written by highly
experienced authors, that explores all topics
through inquiry, concepts, content and contexts
and their interrelationships with each other.

* Explore economics through the nine key concepts
with our newly-developed acronym for a deeper and
more integrated understanding of the subject.

* Ensure comprehension with definitions of key terms
and diagrams throughout the book.

* Apply new skills and knowledge to everyday life with
examples and case studies.

* Foster the attributes of the IB learner profile with
inquiry activities and TOK links for every topic.

* Prepare for the new assessment model with exam-
style questions.

* Avoid common mistakes and aid understanding with
expert tips and hints.

Economics for the IB Diploma:
Quantitative Skills Workbook 9781398340442

Reinforce and improve your students’ quantitative
skills with this write-in workbook, which includes
exam-style practice questions.

* Prepare for the new assessment model with exam-
style questions that are broken down to help students
understand the question as a whole and the way they
will need to tackle it.

* Questions are presented in the chronological order of
the syllabus, to aid knowledge and understanding of
the new course (first exams 2022).

* Provides lots of opportunities to practice quantitative
skills, techniques and methods with exam-style
questions.

* Detailed mark schemes are provided to support
students’ assessment success, from a highly
experienced author, IB workshop leader and teacher.

* Answers are available to download for free:
www.hoddereducation.com/ib-extras

Economics

it
oy






OEBPS/OEBPS/images/40-1.png
Quantity

If the demand for a product
increases, from D, to D, the
equilibrium price will increase
from P, to P, ceteris paribus
This signas 1 firms to raise
their supply as there is an
incentive for them to do so
(greater profit margins).





OEBPS/OEBPS/images/cover.jpg
Economics

Paul Hoang

PREPARE FOR SUCCESS






OEBPS/OEBPS/images/40-2.png
Price ($)

Consumer
surplus

>
Quantity

At the equilibrium price of P.,
there are customers who are
willing and able to pay a higher
price, as shown by all prices
above the equilbrium price.
Thus, the shaded area represents
the total consumer surplus.





OEBPS/OEBPS/images/41-1.png
Price ($)

Producer
surplus

>
Quantity

Atthe equilibrium price of P,,
there are firms that are willing
and able to supply at a lower
price, as shown by all prices
lower than the equilibrium
price. Thus, the shaded area
represents the total producer
surplus.





OEBPS/OEBPS/images/21-1.png
HYPOTHESIS

THEORY





OEBPS/OEBPS/images/41-2.png
Consumer
surplus

Producer
surplus

Qe

>
‘Quantity (units)

Atthe equilibrium price of P,,
both consumer and producer
surplus are maximized. A move
away from the market equilibriur
will make one of these economic
agents worse off.





OEBPS/OEBPS/images/42-1.png
Products
for females 8

PPC

Products for males





OEBPS/OEBPS/images/26-1.png





OEBPS/OEBPS/images/28-1.png
Demand

Quantity demanded

As the price increases from P,
to P, the quantity demanded
contracts from Q, o Q, as the
willingness andor ability to pay
willfall





OEBPS/OEBPS/images/29-1.png
P (9)

P($)

Price (3)

600
Eemale customers

400
Male customers

1,000
Total customers





OEBPS/nav.xhtml




Contents





		Cover



		Title Page



		Copyright



		Contents



		Introduction



		How to use this book



		Getting to know the exam



		Countdown to the exams



		Unit 1 Introduction to economics



		CHAPTER 1 What is economics?



		CHAPTER 2 How do economists approach the world?









		Unit 2 Microeconomics



		CHAPTER 3 Demand



		CHAPTER 4 Supply



		CHAPTER 5 Competitive market equilibrium



		CHAPTER 6 Critique of the maximizing behaviour of consumers and producers (HL only)



		CHAPTER 7 Elasticity of demand – price elasticity of demand (PED)



		CHAPTER 8 Elasticity of demand – income elasticity of demand (YED)



		CHAPTER 9 Elasticity of supply



		CHAPTER 10 Role of government in microeconomics



		CHAPTER 11 Market failure – externalities and common pool (common access) resources



		CHAPTER 12 Market failure – public goods



		CHAPTER 13 Market failure – asymmetric information (HL only)



		CHAPTER 14 Market failure – market power (HL only)



		CHAPTER 15 The market’s inability to achieve equity (HL only)









		Unit 3 Macroeconomics



		CHAPTER 16 Measuring economic activity and illustrating its variations



		CHAPTER 17 Variations in economic activity: aggregate demand and aggregate supply



		CHAPTER 18 Macroeconomic objectives – economic growth



		CHAPTER 19 Macroeconomic objectives – low unemployment



		CHAPTER 20 Macroeconomic objectives – low and stable rate of inflation



		CHAPTER 21 Macroeconomic objectives – sustainable level of government (national) debt (HL only)



		CHAPTER 22 Macroeconomic objectives – potential conflict between macroeconomic objectives



		CHAPTER 23 Economics of inequality and poverty



		CHAPTER 24 Demand management (demand-side policies) – monetary policy



		CHAPTER 25 Demand management – fiscal policy



		CHAPTER 26 Supply-side policies









		Unit 4 The global economy



		CHAPTER 27 Benefits of international trade



		CHAPTER 28 Types of trade protection



		CHAPTER 29 Arguments for and against trade control/protection



		CHAPTER 30 Economic integration



		CHAPTER 31 Exchange rates



		CHAPTER 32 Balance of payments



		CHAPTER 33 Sustainable development



		CHAPTER 34 Measuring development



		CHAPTER 35 Barriers to growth and/or economic development



		CHAPTER 36 Economic growth and/or economic development strategies









		Assessment advice



		Answering Paper 1 questions



		Answering Paper 2 questions



		Answering Paper 3 questions (HL only)



		Internal assessment (IA)



		Extended essay (EE)









		Glossary













		Cover



		Title Page



		Copyright



		My revision planner













		Cover



		C1



		3



		4



		5



		6



		7



		8



		9



		10



		11



		12



		13



		14



		15



		16



		17



		18



		19



		20



		21



		22



		23



		24



		25



		26



		27



		28



		29



		30



		31



		32



		33



		34



		35



		36



		37



		38



		39



		40



		41



		42



		43



		44



		45



		46



		47



		48



		49



		50



		51



		52



		53



		54



		55



		56



		57



		58



		59



		60



		61



		62



		63



		64



		65



		66



		67



		68



		69



		70



		71



		72



		73



		74



		75



		76



		77



		78



		79



		80



		81



		82



		83



		84



		85



		86



		87



		88



		89



		90



		91



		92



		93



		94



		95



		96



		97



		98



		99



		100



		101



		102



		103



		104



		105



		106



		107



		108



		109



		110



		111



		112



		113



		114



		115



		116



		117



		118



		119



		120



		121



		122



		123



		124



		125



		126



		127



		128



		129



		130



		131



		132



		133



		134



		135



		136



		137



		138



		139



		140



		141



		142



		143



		144



		145



		146



		147



		148



		149



		150



		151



		152



		153



		154



		155



		156



		157



		158



		159



		160



		161



		162



		163



		164



		165



		166



		167



		168



		169



		170



		171



		172



		173



		174



		175



		176



		177



		178



		179



		180



		181



		182



		183



		184



		185



		186



		187



		188



		189



		190



		191



		192



		193



		194



		195



		196



		197



		198



		199



		200



		201



		202



		203



		204



		205



		206



		207



		208



		209



		210



		211



		212



		213



		214



		215



		216



		217



		218



		219



		220



		221



		222



		223



		224



		225



		226



		227



		228



		229



		230



		231



		232



		233



		234



		235



		236



		237



		238



		239



		240



		241



		242



		243



		244



		245



		246



		247



		248



		249



		250



		251



		252



		253



		254



		255



		256



		257



		258



		259



		260



		261



		262



		263



		264



		265



		266



		267



		268



		269



		270



		271



		272



		273



		274



		275



		276



		277



		278



		279



		280



		281



		282



		283



		284



		285



		286



		287



		288



		289



		290



		291



		292



		293



		294



		295



		296



		297



		298



		299



		300



		301



		302



		303



		304



		305



		306



		307



		308



		309



		310



		311



		312



		313



		314



		315



		316



		317



		318



		319



		320



		321



		322



		323



		324



		325



		326



		327



		328



		329



		330



		331



		332



		333



		334



		335



		336



		337



		338



		339



		340



		341



		342



		C2



		C3











OEBPS/OEBPS/images/39-4.png
Price of

strawberries
(%)
P2
Py

>

Quantity (ka)





OEBPS/OEBPS/images/copy.png
\Q Paper from

responsible sources
wFAwJSsrga FSC™ C104740






OEBPS/OEBPS/images/30-2.png





OEBPS/OEBPS/images/30-1.png
Price ($)

P3
[
be

Contraction

Demand

Quantity
demanded

Afall in price from P to P, causes
demand to expand from Q, to Q,
ceteris paribus. By contrast, an
increase in price from Py to Py
causes quantity demanded to
contract from Q; 10 Q5.





OEBPS/OEBPS/images/11-1.png
(Economic)
Well-being

Interdepen-

Sustainability dence

Scarcity

Change / Efficiency

Intervention Choices





OEBPS/OEBPS/images/rules.jpg





OEBPS/OEBPS/images/13-1.png
Income
Profit (returns on
(enterprise) the factors of
production)

Interest
(capital)





OEBPS/OEBPS/images/34-2.png
Q

Quantity

Market supply (units)

1,300






OEBPS/OEBPS/images/34-1.png
3

Quantity (units)





OEBPS/OEBPS/images/15-1.png
Producer A
goods

Consumer good





OEBPS/OEBPS/images/36-2.png
Price ($)

S3 Sy Sy
// /
R

Quantity (units)






OEBPS/OEBPS/images/14-1.png
No intervention Full intervention





OEBPS/OEBPS/images/34-3.png
Costs of

factors of

production
The number

Price of
chfiznsly related goods

the industry g

Non-price

determinants

of supply
Changes in Indirect taxes
technology and subsidies

Future price
expectations





OEBPS/OEBPS/images/36-1.png
Price ($)

Expansion

o

Supply

>
Quantity (units)

« Afallin price from P, to P, causes
the quantity supplied to contract
from Q; t0 Q.

« A price rise from P, to P, causes
the quantity supplied to expand
from Q to Qs,





OEBPS/OEBPS/images/17-1.png
Export
earnings ()

Investment ()

Government
expendrlure @)

Consumption of

Factor domestically
payments produced goods
and services (C)

;

Nﬂ Import

taxes (1) expenditure (M)
y






OEBPS/OEBPS/images/38-3.png
Excess demand occurs at all prices
s below the market equilibrium. For

example, at a price of P quantity

demanded is Q, (as firms are

incentivized to produce more)

whereas quantity supplied is only Q,

(the lower price causes an expansion
Excess demand in quantity demanded and a
contraction in quantity supplied).
Hence, there is a shortage, as shown
0 by the shaded area

Q. Qg Quantity (units)

Price (3)






OEBPS/OEBPS/images/39-2.png
Price of

physical
books (§)

>
Quantity (units)





OEBPS/OEBPS/images/16-1.png
>

Goods
(units)

>
Services
5 (units)





OEBPS/OEBPS/images/39-3.png





OEBPS/OEBPS/images/38-1.png
Price (5) sueely

Equibrium |-
price

Demand
Equilibrium quantity Quantity (units)






OEBPS/OEBPS/images/38-2.png
Excess supply

>

Quantity (units)

Excess supply occurs at all prices above
the market equillbrium. For example,
at a price of Py quantity supplied is Q,
(as firms are incentivized toproduce
more) whereas quantity demanded is
only Qg (the higher price causes an
expansion in quantity supplied and a
contraction in quantity demanded).
Hence, there is a surplus, as shown by
the shaded area





OEBPS/OEBPS/images/39-1.png
Price of

smartphones
(%)
P2
Py

>
Quantity (units)





